
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/APRIL 22/1 All prices excluded GST 

AUSSIE SPARES DIAGRAM & PARTS LIST 

Position 
Part 

Number Qty Description List price 
01a 8912 1 Bronze Body B2KQ-A/B $2,103 

01b 8913 1 Valve Body B2KQ-A/B $326 

01c H631 1 Complete check valve $138 

01d 6186 1 FLEX.WASHER 33x39x2 $5 

01e F555 1 Tap AISI 316 1”G  $123 

01f F135  1 Conical Tap ¼” Gas  $24 

01g 6237 4 Hex. Head Screw M10x20 $6 

03a T258 1 Support for Hydr.Mot.  $618 

03b 
T254, 
T253, 
T255 

1 SS Shaft with Bearing  $251 

03c 5255 1 Flex. Coupling D.40  $304 

03d 5142 1 Grub screw M 8x10   

Position 
Part 

Number Qty Description 
List 

price 
2 H177  1 Bronze Impeller  $383 

4 F277 1 Stainless steel wear plate $78 

5 H416 1 Counterface 21-38-8  $222 

6 H395 1 Mech. Seal 16-32-13  $66 

7 6029 1 Flex. Gasket B 2618  $9 

8 8855 1 OR 3425 107.62x2.62  $8 

9 6049 1 O-ring 118  $8 

10 F553 4 SS screw ISO 4017 M10 x 18   

11 9283 1 Joint protection for hyd motor $12  

12 6752 4 Screw TC M4 x 8 $3  

13 7281 4 Washer 4x8x0, 8   

14 8490 4 SS screw UNI 5931 M4 x 8   

15 6164 4 Washer D.8x14x2  $2 

16 6255 4 TCEI Screw M8 x 25 $3 

17 P736 1 Hydraulic Motor with fitting  $1,830 

GMP PUMPS:  B2KQ-A/B WITH HYDRAULIC MOTOR & SS SHAFT 
Cat AASF 

REJUVENATION KIT  …  
SAVE ON BUYING INDIVIDUAL PARTS 

GREJK-B2KQ-ABHYD 
(R608) 

Includes check valve, mech seal, 
counterface, gaskets (items 
highlighted yellow) 

$290 


